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Solving Sequence
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A knot diagrarrﬂ &1 G 7 € G4 o C2
Ideals for irreducible component#ﬂ)f Xpar

I = (w® —u® .+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u —ud*+...+2u—1)

(i) Arc colorings

w= (o)

0
a6 = u
1
ag = U2
—Uu
ar = \—ud+u
—u3
ag = \ —ud +u
uB
a5 = w —ud 4 u
—utt 20 — 207 + B
ag = \ —uM 430 — 40" + 3u® —ud +u
w—uS+ut+1
a10 = \ !9 — 28 + 3ub — 2ut 4+ u?
wl® — 3ul? + 502 — 4410 4+ 308 — 208 + 2ut + 1
a3 = \ 18 — 4410 + 9y — 12412 + 1160 — 6ud + 2ub + u?

—u3? 4+ T30+ 20t 41
ag = \ —u32 +8u3 + -+ — dut + 20

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u? 4+ 32031 — 4430 — 132029 + 28428 + 348u?T — 100020 — 644u?® + 224u?* 4 868u?® —
344u?? —880u?! 4+ 376u2° +700u? — 31208 —488u'7 +228u 0 + 336w 1% — 180u'* — 232113 +
140u'? + 136wt — 88u'0 — 720 + 44u® + 3207 — 2448 — 16u® + 16u* + 4u3 — 8u? + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,Ce ot 2 —1
C2,Cq u35+3u34++14u+5
C3,C8,Cg YRRy TRy R |
“ uP 1T 4 2u 1
v u? — 3P 4 4 B8u — 7
€10 uP 4t —8u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Ce P -1 42y —1
C2,C4 Y3 + 233 + .. 4+ 166y — 25
€3, €8, Cg Y =29y 4+ 42y —1
Cs y35+3y34+_14y_1
¢ y?? 4+ 11y%* + - + 1446y — 49
c10 Y — gy b+ 34y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u=0.890522 4 0.5421911

3.03937 + 0.838621

7.46140 + 0.323671

u= 0.890522 — 0.5421911

3.03937 — 0.838621

7.46140 — 0.323671

u = —0.996188 4 0.4238281

—1.53766 + 1.716231

0.733091 + 0.1259721

u = —0.996188 — 0.4238281

—1.53766 — 1.716231

0.733091 — 0.1259721

u= 0.665614 + 0.6234401

3.70229 — 5.458207

8.60996 + 5.963091

u= 0.665614 — 0.6234401

3.70229 4 5.458201

8.60996 — 5.963091

u=0.903342

2.34444

4.14110

u = —0.688085 + 0.5314217

—0.78083 + 2.018621

2.90867 — 4.637261

u = —0.688085 — 0.5314211

—0.78083 — 2.018621

2.90867 4 4.637261

u = 1.059800 + 0.5023691

—0.80902 — 4.671461

3.48727 + 7.374631

u = 1.059800 — 0.5023691

—0.80902 + 4.671461

3.48727 — 7.374631

u = —1.146120 4 0.2547891

—2.52028 — 4.453971

0.84761 + 2.815251

u = —1.146120 — 0.2547891

—2.52028 + 4.453971

0.84761 — 2.815251

u=0.308085+ 0.7661361

1.96589 + 7.389771

7.01566 — 5.000781

u= 0.308085 — 0.7661361

1.96589 — 7.389771

7.01566 + 5.000781

u=1.142990 + 0.2873101

—6.81373 + 0.305571

—3.68573 — 0.058541

u= 1.142990 — 0.2873101

—6.81373 — 0.305571

—3.68573 + 0.058541

u = —0.460984 + 0.6785791

6.79721 — 1.041551

11.85373 + 0.572951

u = —0.460984 — 0.6785791

6.79721 + 1.041551

11.85373 — 0.572951

u = —1.141570 4 0.3253891

—3.32477 + 3.857091

—0.01107 — 3.913911

u = —1.141570 — 0.3253891

—3.32477 — 3.857091

—0.01107 + 3.913911

u = —1.053770 + 0.5648831

5.05997 + 5.856641

8.52563 — 5.769031

u = —1.053770 — 0.5648831

5.05997 — 5.856641

8.52563 + 5.769031

u = —0.276974 + 0.7402381

—2.57455 — 3.363121

2.16603 + 3.132881

u = —0.276974 — 0.7402381

—2.57455 + 3.363121

2.16603 — 3.132881

u = 1.131430 + 0.5209561

—2.00084 — 4.026581

1.98982 + 2.905161

uw= 1.131430 — 0.5209561

—2.00084 + 4.026581

1.98982 — 2.905161

u = —1.134810 + 0.5455031

—5.06633 + 8.220971

—0.85255 — 6.688221

u = —1.134810 — 0.5455031

—5.06633 — 8.220971

—0.85255 + 6.688221

u=1.134940 4 0.5613891

—0.46048 — 12.384101

3.84214 + 8.575791




Solutions to I}

V=1(vol + /=1CS)

Cusp shape

1.134940 — 0.5613891

—0.46048 + 12.384101

3.84214 — 8.575791

0.217277 + 0.6999871

0.592334 — 0.5994461

5.29885 +- 0.740811

0.217277 — 0.6999871

0.592334 + 0.5994461

5.29885 — 0.740811

0.396163 + 0.5216091

1.091810 + 0.4463171

8.73891 — 2.080731

2le|g|g|=

0.396163 — 0.5216091

1.091810 — 0.4463171

8.73891 + 2.080731




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cq uP - 2u—1
C2,Cy uP + 3+ + 1du+5
c3, Cg, C9 USS—U34+~-'—|—U2—1
€5 ud 1Tt 4 2u 1
€7 u® — 3t 4 4 58u— 7
C10 Pt —8u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, C6 Y =17yt 2y — 1
Ca,Ca v+ 233 + -+ 166y — 25
cs3,Cs, Cy Y =29y o 2y — 1
Cs y35+3y34+_14y_1
cr Y+ 113 + - 4 1446y — 49
C10 P — Pt 34y — 1




